ELT-45106 : RF Equipment for Wireless Networks Exam 16.12.2016

Compiler: Ari Asp Answer to all questions!

Calculators are allowed in this exam. Remember the kaiku feedback

1. Explain shortly diversity methods

2. Explain the two reasons why 3. order intermodulation products are much more difficult to

handle than 2. order intermodulation products for receiver.

2% Using the values given in Figure 1, calculate the noise power at the receiver output, after the 2.
amplifier. If the cable loss increases 2 dB ( from 4 > 6 dB ), is it possible to compensate by
changing parameters of amplifiers? What would be new values of those parameters?
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Figure 1. Reveiver structure

4. Calculate the EIRP at each antenna for the DAS (Distributed Antenna System) given below. The
power level at the transmitter is 30 dBm. The manufacturer of the feeder (1/2”) promises a loss of
6.0 dB/100m at the carrier frequency.-Gain of antenna 1 = 1 dBi, and for antenna 2,3 and 4 Gain =2
dBi.
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5. Explain following figure. What kind of systems are behind those curves and what are the main
differences between those systems? Explain structure principles of those systems.
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NOTE: Formulas are in the following page if you need them.



Some (more or less) useful equations for EL.T-45106 exam:
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